
XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

1

PLAN VIEW
1/2" = 1' - 0"1

1

FRONT ELEVATION
1/2" = 1' - 0"1

2 RIGHT SIDE ELEVATION
1/2" = 1' - 0"1

3

4' - 7"

5' - 1 7/8"

5' - 5 3/4"

4' - 5 3/16"

1 15/16"1 15/16"

3 7/16" 3 7/16"

.407".407"

1' 
- 

4
"

±
7'

 -
 3

 3
/8

"

7'
 -

 4
 3

/1
6

"

12
' -

 2
"

4
 1

5
/1

6
"

1' 
- 

1"
3

' -
 4

"
4

 1
3

/1
6

"

±
1' 

- 
1 

3
/4

"
1' 

- 
0

"
1"

±
1' 

- 
8

 7
/1

6
"

  5
 3

/4
"

.4
0

7"
.4

0
7"

7 
11

/1
6

"
8

"
8

"
8

"
1' 

- 
4

"
8

"
8

"
7 

11
/1

6
"

4' - 5"

EMERGENCY BAND

1' 
- 

0
"

REAR ELEVATION
1/2" = 1' - 0"1

4

4
"

1' 
- 

0
 1

/8
"

1' 
- 

6
 5

/8
"

8
"

4"

OF PHOTOCELL

& DISCONNECT SWITCH

AGI EXTRUDED SLATS PAINTED MP59851 R163470

SV SATIN V1.0 'OPAQUE WHITE' W/ SATIN FINISH

EMERGENCY BAND IS TRANSLUCENT IMPACT

MODIFIED #2447 'WHITE' ACRYLIC W/ FIRST SURFACE

APPLIED TRANSLUCENT 3M 3630-143 'POPPY RED' VINYL

- LETTERS WEEDED OUT TO SHOW THRU 'WHITE'  

COPY & ARROWS ARE  ROUTED AND BACKED

W/ DULITE DAY/NIGHT BLACK ACRYLIC

-COPY STYLE IS WHITNEY SEMI BOLD

HALO-LIT ARCH IS FABRICATED ALUM. CABINET

PAINTED MP77904 R163470 SV SATIN V1.0 MIX TO MATCH

PANTONE 285C 'ASCENSION MEDIUM BLUE' W/ SATIN FINISH

ON FACE & RETURNS

-PAINT SCREW HEADS TO MATCH

ALUM. FACE & RETURNS PAINTED MP59851 R163470

SV SATIN V1.0 'OPAQUE WHITE' W/ SATIN FINISH

ON ALL EXPOSED SURFACES

BASE COVER IS PAINTED MP91279 R163470

SV SATIN V1.0 FLNA 9151 'LIGHT GRAY' W/ SATIN FINISH

ON ALL EXPOSED SURFACES (INCLUDES REVEAL)

GRADE

AGI EXTRUDED RETAINER

PAINTED MP59851 R163470 SV SATIN V1.0 'OPAQUE WHITE'

W/ SATIN FINISH ON ALL EXPOSED SURFACES

- PAINT SCREW HEADS TO MATCH

DISCONNECT SWITCH

AGI EXTRUDED BODY PAINTED MP59851 R163470

SV SATIN V1.0 'OPAQUE WHITE' W/ SATIN FINISH

PHOTOCELL

SWITCH



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

MATCH PLATE DETAIL
3/16" = 1"2

2

45º TYP.

1' 
- 

0
"

1' - 0"

3/4" SLOTTED HOLES ON

A 9"Ø PATTERN FOR

5/8" MOUNTING HARDWARE 

STEEL TUBE UPRIGHT WELDED

TO PLATE

2"Ø ELECTRICAL/DRAINAGE HOLE

- UPPER MATCH PLATE ONLY

3/8"

2

STRUCTURAL STEEL ELEVATION
1/2" = 1' - 0"2

1

12
' -

 5
"

17
' -

 1
 3

/4
"

7'
 -

 2
"

3
' -

 8
 1

3
/1

6
"

13
/1

6
"

1' 
- 

5
 3

/8
"

3
/4

"
1 

9
/1

6
"

3
/4

"
4

' -
 5

 1
1/

16
"

4" X 4" X 1/4" STEEL TUBE

UPRIGHT WELD TO TOP MATCH PLATE

3/4" THK. STEEL MATCH PLATES

4" X 4" X 1/4" STEEL TUBE

UPRIGHT WELD TO BOTTOM MATCH PLATE

5/8"Ø ALL THREAD BOLTS

PROVIDE 5/8" THRU HOLE AT EACH

BOLT LOCATION, TYP.

O
F

 T
H

R
U

 H
O

LE

F
O

R
 B

O
LT



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

3

3 1/4"

2
"

1"

1 5/8"

1 1/4"1" 1"

MOUNTING ANGLE DETAIL
1/2" = 1"3

2

OF THRU HOLE

9/16"Ø HOLE FOR 1/2"Ø HARDWARE

2

3

E
XT

R
U

D
E

D
 A

LU
M

. B
O

D
Y

A
G

I E
XT

R
U

S
IO

N

7'
 -

 4
 3

/1
6

"

11
' -

 1
"

3
' -

 8
 1

3
/1

6
"

7 13/16" AGI. ALUM. EXTRUSION

-PROVIDE HOLE FOR 4" X 4" TUBE

TO PASS THRU TOP & BOTTOM

ALUM. EXTRUDED SLAT FRAME BODY

WELDED TOGETHER, TYP.

-PROVIDE HOLE FOR 4" X 4" TUBE TO PASS THRU

AT BOTTOM

STRUCTURAL ALUMINUM
1/2" = 1' - 0"3

1

2" X 2" X 1/4" ALUM. STRUCTURAL 

MOUNTING ANGLE AT TOP ONLY

2" X 2" X 1/8" ALUM. MOUNTING ANGLES

±1' - 9 5/16"

4' - 7"

2"
4 1/8"

2"2"
.090"

±1' - 9 5/16" 2"
.090"

BLOW UP DETAIL
1/4" = 1"3

2

8 1/8"

6 7/8" 5/8" 5/8"

OF BOLT

(4) 2" X 2" X 1/4" ALUM. STRUCTURAL MOUNTING ANGLE

W/ 1/2"Ø NUT WELDED TO UNDERSIDE

-PROVIDE 5/8" THRU HOLE FOR BOLT

STEEL UPRIGHT

OUTLINE OF CABINET FOR CLARITY

1/2"Ø S.S.H.H. BOLT



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

±3' - 1 1/16"

4

3
' -

 8
 1

3
/1

6
"

2
' -

 1
0

 5
/8

"

1' 
- 

4
"

2
' -

 4
 1

3
/1

6
"

10
 3

/1
6

"

HEEL

OF ANGLE

HEEL

OF ANGLE

4' - 7"

±5' - 1 11/16"

±1' - 5 15/16"

±3 5/16"

OF ARCH

±3 5/16"

MOUNTING ASSEMBLY - FOOTER CABINET
3/4" = 1' - 0"4

2

1/8" ALUM. FACE W/ ROUTED GRAPHICS

VERSILOKED TO EXTRUSION FRONT & BACK

-REAR ELEVATION IS MIRROR OF SHOWN

.090" BRAKE FORMED ALUM. ANGLE

TACK-WELD TO OUTSIDE OF EXTRUSION BODY

-PAINT TO MATCH RETURNS

1/8" FABRICATED ALUM. CHANNEL

AROUND BOTTOM PERIMETER

WELD TO EXTRUSION BODY

2

6

4' - 6 5/8"

4' - 7"

7'
 -

 4
 3

/1
6

"

7 
9

/1
6

"
7 

9
/1

6
"

±
1/

2
"

±
1/

2
"

O
F

 R
A

IL

1' 
- 

4
"

8
"

8
"

8
"

1' 
- 

4
"

8
"

8
"

1

5

EXTRUDED OUTSIDE MOUNTING RAIL SECURED

TO EXTRUDED SLAT FRAME BODY W

#8 S.S.P.H. SHEET METAL SCREWS

-TMP - 16824 - DIE# - 17418A

EXTRUDED SHARED MOUNTING RAIL SECURED

TO TUBE FRAME ON BOTH ENDS W/

#8 C.S.S.S. SHEET METAL SCREWS

-(1) FASTENER ON EACH END OF RAIL, TYP.

-TMP - 16823 - DIE# - 17417A

EXTRUDED OUTSIDE MOUNTING RAIL SECURED

TO EXTRUDED SLAT FRAME BODY W

#8 S.S.P.H. SHEET METAL SCREWS

-TMP - 16824 - DIE# - 17418A

EXTRUDED ALUM. SIGN BODY

-TMP - 16818 - DIE# - 17412A

EXTRUDED CABINET ASSEMBLY
3/4" = 1' - 0"4

1

2

5



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

5

3

5

ALUM. FACE W/ ROUTED & BACKED COPY

VERSILOKED TO ALUM. EXTRUDED TAB BRACKET

EXTRUDED ALUM. TAB BRACKET -FOR CUSTOM SIZED PANELS

-TMP-#16822 - DIE #17416A

EXTRUDED ALUM. COMMON RAIL

WHERE EACH FACE PANEL MEET, TYP.

-TMP-#16823 - DIE #17417A

.177" THK. #2447 TRANSLUCENT IMPACT

MODIFIED ACRYLIC (EMERGENCY BAND)

TAPED & SILICONE TO PANEL

EXTRUDED ALUM. TAB BRACKET -FOR CUSTOM SIZED PANELS

-TMP-#16822 - DIE #17416A

1/8" DULITE DAY/NIGHT 'BLACK' ACRYLIC

FIT IN EXTRUDED TABS BEHIND 

ALUM. FACE & SECURED W/ SILICONE ADHESIVE

8" EXTRUDED ALUM. MESSAGE PANEL W/ ROUTED GRAPHICS

-TMP-#16821 - DIE #17415A

8" EXTRUDED ALUM. MESSAGE PANEL W/ ROUTED GRAPHICS

-TMP-#16821 - DIE #17415A

SECTION VIEW AT MAIN CABINET
1/8" = 1"5

2

PANEL DETAIL, TYP.
3/4" = 1"5

4

1 
1/

16
"

3M #9505 CLEAR LAMINATING TAPE

ALONG TOP OF ROUTED & BACKED COPY

SILICONE ADHESIVE

SILICONE ADHESIVE

.118" ACRYLIC PANEL

-LEAVE 1/16" OF TOLERANCE AT TOP

TO ENSURE PANEL FIT

EXTRUDED ALUM. SLAT PANEL

W/ ROUTED COPY

PLAN SECTION
1/8" = 1"5

1

4' - 6 5/8"

4' - 7"

4' - 6 1/2"

REMOVE RETAINER ON SIDE

TO ACCESS SLATS

EXTRUDED SLAT PANEL

-SLIDE THRU SIDES

EXTRUDED RAIL

EXTRUDED RAIL

EXTRUDED BODY

EXTRUDED SLAT PANEL

-TMP - 16825 - DIE# - 17419A

EXTRUDED ALUM. MOUNTING RAIL MECH.

TO FACE OF TUBE FRAME TOP & BOTTOM

W/ #8 X 1/2" S.S.P.H. SHEET METAL SCREWS

-TMP - 16818 - DIE# - 17412A

ALUM. SLAT RETAINER

MECH. FASTENED TO EXTRUDED BODY

W/ #6 C.S.S.S. SHEET METAL SCREWS

-TMP - 16825 - DIE# - 17419A

EXTRUDED ALUM. SIGN BODY

-TMP - 16818 - DIE# - 17412A

BLOW UP DETAIL
3/8" = 1"5

3

EXTRUDED ALUM. SLAT



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

6

CABINET ASSEMBLY - EXPLODED ISOMETRIC
N.T.S.6

3

ALUM. FACE

W/ .090" WELDED

RETURNS

POLYCARBONATE LENS

W/ DIFFUSER

ASCENSION COVE EXTRUSION

MOUNTED TO ALUM. FACE

DOUBLER BETWEEN

ARCH CABINET HALVES

FABRICATED ALUM.

MOUNTING CHANNEL

ARCH CABINET SEAM DETAIL
1" = 1' - 0"6

4

.090" X 1 1/2" WIDE ALUM. DOUBLER

VERSILOKED TO ARCH CABINET ON ONE SIDE

& MECHANICALLY FASTENED TO OPPOSITE SITE

W/ #8 C.S.S.S SCREWS

-ENSURE DOUBLER IS VERSILOKED ON

'STATIC' SIDE OF SIGN FOR CONTINUITY 

.090" ALUM. RETURNS

ON SIDES & TOP

PLAN SECTION AT MOUNTING CHANNEL
1" = 1' - 0"6

2

3' - 4"

±5' - 1 11/16"

2
"

11
 1

3
/1

6
"

7 
13

/1
6

"
2

"

±3 5/16" ±3 5/16"

2" X 1" X 1/8" ALUM. CHANNEL

WELD IN FRAME FRONT & BACK

-MITRE CUT & WELD TO BRAKEFORMED

SIDES, TYP.

1/8" BRAKE FORMED ALUM. SIDE

CHANNEL W/ 1" FLANGES

-MITRE CUT AS REQ'D.

±3' - 1 1/16"
3

' -
 8

 1
3

/1
6

"

±
1' 

- 
8

 1
/2

"

1' 
- 

6
 5

/8
"

±
2

' -
 2

 3
/1

6
"

5
 3

/4
"

4' - 7"

±1' - 5 15/16"

OF ARCH

MOUNTING ASSEMBLY - FOOTER CABINET
3/4" = 1' - 0"6

1

1

7

5' - 1 7/8"

±5' - 1 11/16"

ASCENSION

EXTRUDED ALUM. COVE

POP RIVETED TO ALUM. FACE

SEAMLESS FINISH AT TOP OF COVE

WELD TOGETHER & GRIND SMOOTH

.090" RETURNS SECURED

TO MOUNTING CHANNEL W/

#8 C.S.S.S SHEET METAL SCREWS

.090" ROLLED ALUM. COVE TOP RETURN

MECH. FASTENED TO 

BRAKE FORMED ANGLE

W/ #8 C.S.S.S SHEET METAL SCREWS

R= 9' - 0"

R= 9' - 0"

3 7/16" 3 7/16"



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

7

BLOW UP DETAIL AT LIGHT COVE
1" = 1"7

2

1 7/8"

2
"

1 9/16"

C
O

VE
 E

XT
R

U
S

IO
N

5
/8

"

7/8"

LENS

OPENING

3/16"

ALUM. MAIN CABINET FACE

ALUM. ARCH FACE

CONTINUOUS .090" X 3/4" WIDE ALUM. TAB

WELDED TO ALUM. FACE

.060"CLEAR POLYCARBONATE LENS 

W/ 3M #3635-70 DIFFUSER 2ND SURFACE

-PRE-DRILL 3/16"Ø HOLES FOR SCREWS

#8 X 5/8" LONG S.S.U.C. ROLL THREAD

SHEET METAL SCREW @ 18" O.C. MAX

EXTRUDED ALUM. COVE  VERSILOKED

TO FOOTER CABINET ALUM. FACE ALONG ARCH EDGE

SLOANLED PRISM COLOR LEDS 'BLUE' MODULES 

-PN# 701269-BLSJ1-MB

LED WIRES TO POWER SUPPLY HOUSED IN MAIN CABINET

COVE EXTRUSION

3
/1

6
"

O
F

 L
E

D
S

S.S. POP RIVETS AT 18" O.C. MAX

1/
16

"

1/2" HYCO PLASTIC BUSHING

COVE SCREW LOCATIONS, TYP.
N.T.S.7

3

1 1/2"

EQ.

EQ.

1 1/2"

1 1/
2"

EQ.

EQ
.

EQ
.

1 
1/

2"

EQ.

SCREW LOCATIONS FOR COVE

-START SCREWS 1 1/2" FROM 

ARCH TOP & SIDES

-SCREWS NOT TO EXCEED 18" O.C. TYP.

2

7

2 9/16"

SIDE SECTION
3/16" = 1"7

1

AGI ALUM. EXTRUSION

1/8" ALUM. CABINET FACE

1/8" ALUM. ARCH CABINET FACE

STEEL STRUCTURE

FABRICATED ALUM. CHANNEL FRAME

WELD TO EXTRUSION AT BOTTOM

SCREW ON CAP

ON STATIC ESCUTCHEON ONLY

4" LONG ALUM. AGI INDIAN GRIP

MECH. FASTENED TO EXTRUSION

W/ #10 S.S.H.H. TEK SCREWS

ASCENSION

ALUM. LARGE BASE EXTRUSION CAP

ASCENSION

ALUM. LARGE BASE EXTRUSION BOTTOM

ASCENSION

ALUM. LARGE BASE EXTRUSION TOP



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

8

ESCUTCHEON PLAN VIEW (BOTTOM SIDE)
1/8" = 1"8

1

REMOVABLE ESCUTCHEON

COVER THIS SIDE ONLY

-SLIDE THRU Z-CLIPS

& MECH. FASTENED TO STATIC COVER

1' - 2 7/8"

O
P

E
N

IN
G

6 7/8"

5' - 5 3/4"

1' - 1"

3' - 0"1' - 2 7/8"

OF Z-CLIP

OF SCREW

1' - 1" 1' - 1" 1' - 1" 6 7/8"

1' 
- 

6
 5

/8
"

4
 1

3
/1

6
"

ALUM. Z CLIP

3

8

BLOW UP DETAIL
1/4" = 1"8

3

2" X 2" X 1/8" ALUM. ANGLES

VERSILOKED TO INSIDE OF REMOVABLE

ESCUTCHEON COVER & MECH. FASTENED

TO ESCUTCHEON EXTRUSION (STATIC SIDE)

W/ #8 C.S.S.S SHEET METAL SCREWS

CAP MECHANICALLY FASTENED TO

AGI. EXTRUSION ABOVE W/

#10 S.S.H.H. TEK SCREWS

-DO NOT SCREW CAP ON REMOVABLE FACE

ALUM. LARGE BASE EXTRUSION FACE

6
 3

/4
"

5
 1

/4
"

1 
1/

2
"

ASCENSION EXTRUDED CAP

MECHANICALLY FASTENED TO

EXTRUSION FACE W/ #8 C.S.S.S

SHEET METAL SCREWS

ESCUTCHEON DETAIL
3/16" = 1"10

2

6 3/4"

1' 
- 

0
"

1' 
- 

1"

5 1/4" 1 1/2"

1"

'LARGE BASE UPPER' EXTRUSION

CAP EXTRUSION

±6 7/8"

E
S

C
U

TC
H

E
O

N
 E

XT
R

U
S

IO
N

ASCENSION 'CAP' EXTRUSION

'LARGE BASE LOWER' EXTRUSION

WELD TO UPPER EXTRUSION.

-BODYWORK TO ENSURE

SEAMLESS FINISH

5
"

7"

3/32" GAP FILLED W/ BONDO

& SANDED SMOOTH



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

9

1' 
- 

2
"

7'
 -

 4
"

10
 3

/1
6

"

O
F

P
H

O
TO

C
E

LL

O
F

 D
IS

C
O

N
N

E
C

T

S
W

IT
C

H

ELECTRICAL ELEVATION
1/2" = 1' - 0"9

1

7 1/2" 1' - 0" 7 1/2"1' - 0"1' - 3 13/16"

OF LED

BAND

PHOTOCELL SWITCH

HOUSED IN J-BOX SET IN CABINET

U.L. LISTED DISCONNECT SWITCH

3/8"Ø METALLIC FLEX CONDUIT

IN SIGN

(30 lf) SLOAN SIGNBOX II 6500K 'WHITE'

DOUBLE SIDED LEDS

(4) 60W POWER SUPPLIES & JUNCTION BOX

MOUNTED TO STEEL TUBE

1"Ø RIGID CONDUIT TO OWNER-PROVIDED

POWER SUPPLY

-PROVIDE 6' - 0" OF WHIP FROM THE BASE OF THE SIGN

WEATHER-PROOF JUNCTION BOX MOUNTED BENEATH AGI EXTRUSION

IN REMOVABLE-COVER ACCESS

SLOANLED PRISM COLOR LEDS 'BLUE' MODULES

MOUNTED IN EXTRUDED LIGHT BOX COVE 

LED’S ARE BUTTED END TO END, NO SPACES

.063 LED MOUNTING BRACKETS

MOUNTED TO INSIDE OF FRAME

(SHOWN DOTTED IN)

ELECTRICAL JUMP BETWEEN CABINETS



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

10

CAISSON FOUNDATION ELEVATION
3/8" = 1' - 0"10

1

6
"

10
"

5
' -

 6
"

4
' -

 8
"

S
TE

E
L 

E
M

B
E

D
D

E
D

IN
 C

O
N

C
R

E
TE

4
' -

 2
"

3
/4

"
3

/4
"

1  
9/

16
"

3
 5

/8
"

3' - 0"Ø

POWER OUT OF SIGN

GRADE

2500 PSI CONCRETE

4" X 4" STEEL TUBE UPRIGHT

DIRECTLY BURIED IN CONCRETE

5/8"Ø ALL THREAD W/

LEVELING NUT AND WASHER

-MIN 1/4" OF SPACE BETWEEN LEVELING NUTS

BETWEEN PLATES

3/4" THICK STEEL MATCH PLATES



XXX

D. SELBY

11.13.17

MPK

S. CHADWELL

1
2
/6

/1
7

C
O

D
E

 N
O

T
A
T

IO
N

S
T

D

WF-66-ILL

ASC

MPK

ASCENSION

11

SHIPPING STAND
1/2" = 1' - 0"11

1

4"

3' - 0"

6 1/2"

9"4"9" 10"

6
' -

 0
" 4
"

2
' -

 7
"

2
"

TOP STAND BOTTOM STAND

C4. X 5.4 STEEL CHANNEL

HORIZONTAL
C4 X 5.4 STEEL CHANNEL

SUPPORTS WELDED

BETWEEN HORIZONTAL

MEMBERS

-PROVIDE 1"Ø HOLES

FOR 3/4"Ø HARDWARE

4
' -

 8
"

6
 7

/8
"

1' 
- 

10
 5

/8
"

4"

3' - 0"

1' - 4" 1' - 4"

O
F

 B
O

LT

C4. X 5.4 STEEL CHANNEL

WELDED TO STEEL CHANNEL

HORIZONTAL AT EACH END, TYP.

PROVIDE 3/4"Ø HOLES

FOR 1/2"Ø HARDWARE

4
"

2
"

2
"

2
' -

 7
"

3"

(4) 2" X 3" LONG SCHED. 40

STEEL TUBE SPACER

4"

9
 1

5
/1

6
"

1' 
- 

10
 5

/8
"

9
 1

5
/1

6
"


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

